Balance Sheets
	 
	 
	 
	 
	 
	 

	 
	
	2013
	
	2012
	 

	 
	
	
	
	
	 

	 
	Fixed Assets
	525,000
	
	400,000
	 

	 
	Current Assets
	40,000
	
	30,000
	 

	 
	
	
	
	
	 

	 
	Current Liabilities
	30,000
	
	25,000
	 

	 
	Long-term Liabilities
	242,000
	
	230,000
	 

	 
	
	
	
	
	 

	 
	Net Assets Employed
	 
	
	 
	 

	 
	
	
	
	
	 

	 
	Total Equity
	 
	
	 
	 

	 
	 
	 
	 
	 
	 


Please calculate the net assets employed and total equity for the above business.

1. Give an example of a:

· Fixed asset

· Current asset

· Current liability

· Long-term liability

2. What does the change in net assets tell us?

3. Which stakeholders would be interested by this fact?
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Imber Showers Ltd buys the components used to make the shower units from a

several UK suppliers. It tries to keep costs down by buying from the cheapest
suppliers. This means that Imber Showers Ltd often changes its suppliers when it

finds another one which is cheaper.

The company is facing increased compefition. The managers believe that in order
to compete, Imber Showers Lid needs to increase the range of showers available

1o customers, so that it can target different types of customer. The managers also
believe that they could reduce costs further by introducing Just in Time (JIT) stock

control.

Figure 1:  Extracts from Imber Showers Ltd’s Balance Sheet 2011 and 2012

2012 2011
(£000) (£000)
Current assets 2700 3200
Fixed assets (non-current assets) 10 700 10 300
Current liabilities 3000 2500
Long-term liabilities (non-current liabilities) 11000 12000
) Current assets
Current ratio = ————————
Current liabil
The current ratio for 2011 is 1.28.
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Calculate Imber Showers Ltd ’s current ratio for 2012. Show your workings.

Current ratio ..........................................................................................................................................................
Workings .................................................................................................................................................................
 ...................................................................................................................................................................................
 ................................................................................................................................................................ (2 marks)
Imber Showers Ltd ’s current ratio has changed between 2011 and 2012. Describe how this change might affect Imber Showers Ltd. 
What is the change? ............................................................................................................................................
...................................................................................................................................................................................

What does this mean for the business? .........................................................................................................               
...................................................................................................................................................................................
What might this mean they have to do? .........................................................................................................
...................................................................................................................................................................................
What problems are associated with this? ......................................................................................................
...................................................................................................................................................................................

S+C Extension: What do you think they could do to fix this problem?
